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BGT="11-11 (05:28:50 AM)", HID = [68 ]. HEBB=[8, 1,1, 17]

X=sin(248 t) cos(527 t) + 8 cos(527 t)l sin(248 1) ccs(lan(cos( p +tl 1 ] ) ]

Y=cos(248 1) cos(527 t) + 8 cos(527 r)zcos(248 ) cos(mn(cos[ . +[“ ] ) ]

=0.2m, st:TIO], IS
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BGT="11-11(05:28:52 AM)", HIC=[71], HEBB=[8, 1, 1, 18]
X=s5in(248 t) cos(558 1) + 8 sin(248 ¢) cos(558 1) cos(lan[ccs( [+t“ ))]

Y=cos(248 1) cos(558 1) + 8 cos(248 1) cos(558 1) ccs(tan(cos( [+[“ j ) ]

(=0.2m, st:TIO], IS

B=[8,1,1,18]
X=sin(248 1) + 8 sin(248 1) cos(558 1) cos(tan(cos[ t+t 1 ] ) )

Y=cos(248 1) + 8 cos(248 1) cos(558 1) cos[tan(cos[ p +tll ] ) ]

=0.2m, st:TIO], IS

BGT="11-11(05:28:53 AM)", HID = [72]. HEBB=[8, 1, 1, 18]

X=sin(248 t) cos(558 1) + 8 cos(558 t)l sin(248 1) ccs(lan(cos( p +tl 1 ] ) ]

Y=cos(248 1) cos(558 ) + 8 cos(558 r)zcos(248 ) cos(mn(cos[ . +[“ ] ) ]

(=0.2m, st:TIO], IS
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Pachikuri i1t by H.E

BGT="11-11 (05:28:54 AM)", HIA=[73), HEBB=[8, 1,1, 19]
X=sin(248 t) + 8 sin(248 ) cos(589 1) cos(tan(cos[ ﬁ ] ) )

Y=cos(248 1) + 8 cos(248 1) cos(589 1) cos[tan(cos[ﬁ ] ) ]

=0.2m, st:TIO], IS
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BGT="11-11 (05:29:07 AM)", HIB=[90], HEBB =8, 1,2,3]

X=sin(248 1) + 8 cos(93 ¢) sin(248 ¢) cos(186 ¢) cos(tan(cos( ﬁ ) ] )
Y=cos(248 1) + 8 cos(93 1) cos(248 1) cos(186 1) cos(tan[cos(ﬁ ) ] j

(=0.2m, st:TIO], IS

Pachikuri {7 1€ by H.E

BGT="11-11 (05:29:00 AM)", HIC=[79], HEBB=[8, 1, 1,20]
X=sin(248 t) cos(620 7) + 8 sin(248 ¢) cos(620 1) cos(lan[ccs( ! )) ]

Y=cos(248 1) cos(620 1) + 8 cos(248 1) cos(620 1) cos(tan(cos[ ! j ) ]

=0.2m, st:TIO], IS
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BGT="11-11 (05:29:08 AM)", HID = [92], HEBB=[8, 1,2, 3]

X=sin(248 t) cos(93 ¢) + 8 cos(93 1) sin(248 ¢) cos(186 1) cos(tan(cos(ﬁ ] j )

Y=cos(248 1) cos(93 1) + 8 cos(93 1) cos(248 7) cos(186 1) cos(wn(cos(ﬁ ) ))
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BGT="11-11 (05:29:11 AM)", HIA = [97], HEBB=[8, 1,2, 5]

X=sin(248 t) + 8 sin(248 1) cos(310 ¢) c: ( n(cos[ t+t]l ]))

Y=cos(248 1) + 8 cos(248 ) cos(310 1) ¢ [‘“’(“’5[1;11))]

e
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BGT="11-11 (05:29:13 AM)", HID = [100], HEBB=[8, 1,2, 5]
n (248 ¢) cos(155t) + 8 cos(155 ) sin(248 ¢) cos(310 ¢) cos(tan(cos( t+tll )))

Y=cos(248 1) cos(155¢) + 8 cos(155 t) cos(248 1) cos(310 1) cos(tan(cos( PEST )]j

=0.2m, 10 | I
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BGT="11-11 (05:29:12 AM)", HIB = [98 ], HEBB=[8, 1,2, 5]
X=sin(248 1) + 8 cos(155 1) sin(248 1) cos(310 1) ¢ (ln[cos( ! ))]

Y=cos(248 1) + 8 cos(155¢) cos(248 1) cos(3107) cos(tan(cos[ [+[“ j)]
_ 1
1=0.2m 5= 5 ] HEFIE
Pachikuri {#{E by H.E

BGT="11-11 (05:29:15 AM)", HIB=[102], HEBB =8, 1,2, 6]
X=sin(248 1) + 8 cos(186 1) sin(248 1) cos(3721) ¢ (l n[ccs( T ))]

Y=cos(248 1) + 8 cos(186 ) cos(248 1) cos(372 1) cos(tan(cos[ S j)]

e
1=0.2m 5= 5 ],E+#f$s}f
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Pachikuri {7 1€ by H.E

BGT="11-11 (05:29:15 AM)", HIC=[103], HEBB=[8, 1,2, 6]

X=sin(248 t) cos(186 1) + 8 sin(248 ¢) cos(372 1) cos(lan[ccs( ﬁ ) ) ]
Y=cos(248 1) cos(186 1) + 8 cos(248 1) cos(372 1) cos(tan(cos[ ﬁ j ) ]

=0.2m, st:TIO], IS

Pachikuri {#{E by H.E
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BGT="11-11 (05:29:17 AM)", HIB=[106], HEBB =8, 1,2,7]

Pachikuri %1t by H.E

BGT="11-11 (05:29:17 AM)", HI4=[10

X=sin(248 1) + 8 sin(248 1) cos(434 1) cos(tan(cos[ I+t 1 ] ) )

Y=cos(248 1) + 8 cos(248 1) cos(434 1) cos[tan(cos[ p +tll ] ) ]

=0.2m, st:TIO], IS

Pachikuri {518 by H.E

BGT="11-11 (05:29:19 AM)", HID = [ 108 ], HEBB = [8, 1,2, 7]

X=sin(248 ) + 8 cos(217 ¢) sin(248 t) cos(434 1) cos(lan[ccs( ﬁ ) ) ] X=sin(248 t) cos(217 ) + 8 cos(217 ) sin(248 t) cos(434 t) cos(tan(cos( ﬁ ) ) )

Y=cos(248 1) + 8 cos(217 t) cos(248 1) cos(434 1) cos(tan(cos[ ﬁ j ) ] Y=cos(248 1) cos(217 1) + 8 cos(217 1) cos(248 1) cos(434 1) cos(tan(cos( ﬁ ) ] j

(=0.2m, st:TIO], EFIE 120,21 1= 5o | eI




